
 
16

 H
7 

+  0,
01

8
 

 12 -
-
0,2
0,5  

 5 

 1õ45  

 R1 

 
27

 

 
22

 r
6 

+ +0,
04

1
0,
02

8
 

Ra 1,6

Ra 1,6

1. 40...44 HRC. 
2. H14,h14, IT14/2.

3.2 
Ïå

ðâ
. ï

ðè
ìå

í.
Ñï

ðà
â. 

¹
Ïî

äï
. è

 ä
àò

à
Èí

â. 
¹

 ä
óá

ë.
Âç

àì
. è

íâ
. ¹

Ïî
äï

. è
 ä

àò
à

Èí
â. 

¹
 ï

îä
ë.

4:1

Óòâ.
Í.êîíòð.

ËèñòîâËèñòÒ.êîíòð.
Ïðîâ.
Ðàçðàá.

Ëèò.
ÄàòàÏîäï.¹ äîêóì.ËèñòÈçì.

ÌàñøòàáÌàññà

ÍËÑ-ÏÔ-1778.06

ÍËÑ-ÏÔ-1778.06

Âòóëêà
Äåìüÿíîâ Î.È.
Ñàäêèíà À.À.

Ñòàëü 40Õ ÃÎÑÒ 4543-71 ÎÎÎ ''ÍËÑ Ñèëèêîí''

24,1 ã


	Лист1
	Чертежный вид5


